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4. 2HmPEERGEER/NEFE_HREHEIRE--BWR: 2F (KRKREE .2F->2F)

[fE/B]: 2F [EBPriEaTE]:3 AEFE: 4 -10cm/KEREMREE (T = BATEE)(O 1):PNA21-01 [XO:
+2805,Y7:+115]
X e ] (RS  E FE AT &
N
INER: H B =(1)150.00%(H)304/10000=4.56 M2
B mmaE/ T (CRIOBREE O FI): 4.56 M2
s R s E A5 /e (FOBRBA O 1% ): 4.56-[F9%5BE M]0.00-[ & B []0.00+[%E 4} 1238]0.00= 4.56 M2

[#2/B]: 2F [EXfRRME L ]2 B FHE: 6 -10cmsKB IR ERFRRiE (& ER)(O0 :):PNA21-01 [XO0:
+2375,Y7:-67]
Q] (P E AR AT &
REZ:A
INER: H i =(1)245.00%(H)334/10000=8.18 M2
EfmifS i/ E (R0 O AT): 8.18 M2
s e s A5 /e (F0F&BA O % ): 8.18-[F9%BH M]0.00-[ & 3 B []0.00+[%E 4+ 1235]0.00= 8.18 M2

[(#2/B): 2F [EXfRRME L2 B FHE: 7 -10cmsKB IR ESfR s (& & R)(O0 :):PNA21-01 [XO0:
+2403,Y7:-50]
B (1S m i at &
N
INER: H S =(1)45.00%(H)334/10000=1.50 M2
BImEE Em A/ (RIREOED): 1.50 M2
i«‘wﬁu ﬁ%;/hd(#ﬂﬁ?l%ﬁl:l&) 1.50- [F'Elrglsﬁu]o OO[QEEFaﬁEI]O 00+[%E4}123%]0.00= 1.50 M2

[*EJE] 2F [EmRfEaTE)2 AERF5R: 8 -10cmiKiERES fmE S (B &M )(O 1 :):PNA21-01 [XO:

+1792,Y16:-130]
X e ] (RS T FE AT &
REE:A
INER 1 5 iE=(L)285.00%(H)334/10000=9.52 M2
EfmifsmaE/ N ET (R0 O AT): 9.52 M2
«‘BmF‘i;I ﬁ%;/hd(#ﬂﬁ?l%ﬁl:l&) 9.52-[M& i MA]0.00- [a FRA010.00+[£84}123%]0.00= 9.52 M2

[EJE] 2F [EfmfEifEaTE2 MERFHR: 9 -10cm/KIEREfRAETE(EER)(O 0 :):PNA21-01 [X0:

+1755,Y16:-163]
X iz ] (RS  E FE AT &
REE:A
INER1: FEE=(L)55.00%(H)334/10000=1.84 M2
EfmismEmaE/ N ET (CRI0BRFA O AT): 1.84 M2
«‘BmF‘i;I mall\d(#ur!?ﬁﬁm&) 1 84 [F'Elﬁsﬁu]o 00- [a FRA010.00+[£84}123%]0.00= 1.84 M2

[*EJE] 2F [EfRfEiEatE2 L& r“a-»’e;. 10 -10cmuKEHRER fmfEliE (B &R )(O 0 :):PNA21-01 [X1:+53,Y8:
+12]
EhmE (g ) miEst &
REZ:A
INER1: FEHE=(L)100.00*(H)334/10000=3.34 M2
BRI Em A/ (RIRBAOED): 3.34 M2
i«‘ﬁmfﬁu mall\ﬁ(#ulﬁ‘-l’aﬁl:u&) 3. 34 [F'El%l’aﬁu]o 00- [é FA B []0.00+[£E411238]0.00= 3.34 M2

[&JE] 2F [EimfEfEaTE:1 L& r“a-Jﬁ. 11 -10cm7KIEHRES A (— %) (O 1 :):PNA21-01 [X10:

+182,Y7:-250]
i i (RS ) AR A H B
REZ:A
% INER1: BRJEE:(S3)=(L)201.00%(H):(380-16)/10000=7.32 M2
B2
INER 1 BRJEE:(S3)=(L)33.50%(H):(380-16)/10000=1.22 M2
INER2: BRI (b2)=(L)35.00*(H):(380-60)/10000=1.12 M2
INER3: BRJEE:(S3)=(L)357.50%(H):(380-16)/10000=13.01 M2
BimMEfEmaE/ N EtCRIORBI O RT): 22.67 M2
FYE5 R O A& 0
1.F9(D10):90*210/10000=1.89
PIES B O EmAEORR/NEL: 1.89 M2
KRk miE/ DTN O %): 22.67-[F9%5FO11.89-[E B FA0]0.00+[%541 1#25]0.00= 20.78 M2
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[(#2fE8]: 2F [EXfmMEiEa TR0 ERFHR: 5 -1/2BMEfE(/MELEHE)(O 0 :):PNA21-01 [X0:+2817,Y17:-55]
% e (L D AR B
KEE:1
INER: FEiE=(L)250.00*(H)150/10000=3.75 M2
PRSI A/ T (RINRRBADIA): 3.75 M2
SRR E A/ ET(FBRBAD #): 3.75-[FIE5R010.00-{ & F B 01]0.00+ (4851 1238]0.00= 3.75 M2

[(#2[B]: 2F [ERfRMEIERFE0 fIEFHR: 2 -1/2BREE(/IME L E1E)(O 0 :):PNA21-01 [X0:+3272,Y17:-48]
B hmE (RS ) miEst &
N
INER1: FEE=(L)264.96*(H)150/10000=3.97 M2
B mMEfEmmaE/ T (CRIOBREE O F): 3.97 M2
R I/ s (NREI O #%): 3.97-[F9% A 010.00-[H BB M]0.00+[4E4+12:5]0.00= 3.97 M2

[#2fE]: 2F [EXfmMEiEa a0 MERFHR: 1 -1/2BEE(/MELEHE)(O 0 :):PNA21-01 [X0:+2955,Y7:-182]
5 (A O RS
KEE:1
INER: FEiE=(L)530.00*(H)150/10000=7.95 M2
S FRRRIE E A/ T (RINBRBADIA): 7.95 M2
Ri@ffEmiE/NeT(F0RRE O #%): 7.95-[F9%FA0]0.00-[ B BB O]0.00+ %54} #875]0.00= 7.95 M2

[#2)2]: 2F [E[ERE4TE]3 BRI 3 -10cm/KERE fBiE & (EFrS mATEE) (00 :):PNA21-01 [XO0:
+3172,Y17:#130]
R () miast &
KEE:1
INER1: FEiE=(L)60.00*(H)304/10000=1.82 M2
RS mEmia/ N st (RIOBRBE O F): 1.82 M2
SRR E /N (GOIRBI O %): 1.82-[F9E5BI0]0.00-[& 1B CI]0.00+ZE4MEIK]0.00= 1.82 M2
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